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Note :

1. This question paper has 100 questions. Each question carries 2 marks. All questions are

compulsory.

2. Read carefully instructions regarding method of answering questions given on the back side

of the OMR Answer-Sheet and indicate your answers on the OMR Answer-Sheet provided.

3. Use of any type of Calculator or Log table, Mobile phone and Smart watch is prohibited.
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37. s fifiad | w1 § ‘ENGINEER> # 131’ ¥ &9 § 8iR ‘INCOME’ & ‘97" &

38.

¥ ¥ FAFa fea I 1 S A H ‘TEACHER® # %@ giga fopan smem ?
(A) 136

(B) 122
(C) 125

(D) 129
In a certain code language, ‘ENGINEER’ is coded as ‘131’ and ‘INCOME’ is coded

as ‘97’. How will ‘TEACHER’ be coded as in that language?
(A) 136 ¢ i it g i S 4 S
) Bl Bt 1535 Pu % /:, G'; ‘ 3/9’ ot o S

(B) 122
pp i g @Ay 1 T B w el M, S

© 125 e vge le 8 14 1e (9 Sig L i 2l e b, S S 26
(D) 129
Wﬁ@rmwaﬁsﬁﬁwﬁf@ﬁﬂi@ﬁﬁmﬁa@)aﬁuﬁwﬁamw:
i) '
33, 35, 42, 54, 66, 96, 113, 169, ? 5(4@@55 7P
(A) 174'” T a0 e 56 : T op
(B) 231 z}
O o s B 8 S s b
(D) 191! ‘ ¢ R
» X ; 1oty ?

y L

Select the number that can replace: the question mark (?) in the following series :
33, 35, 42, 54, 66, 96, 113, 169, ?

(A) 174

(B) 231

(©) 207

(D) 191
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927 ? 349

1474 | 149 | 947

(B) 128
(D) 119

(A) 107
(C) 111

Study the given pattern carefully and select the number that can replace the quegt,

mark (?) in it :
7 4 6

927 ? | 349

1474 | 149 | 947

(A) 107 (B) 128
(€) 111 (D) 119
40. W ffakew o A wY e d@d 3H we § gy § 39 R T e § genl i
(124, 88, 53)
(A) (56, 137, 48) (B) (147, 64, 51) Vié}
©) (171, 97, 67) (D) (84, 128, 56) /‘gfo/

Select the option in which the numbers are related in the same way as are the number

in the given set : ;
\\ ’ \ > 5’3

(124, 88, 53) \
1 )

(A) (56, 137, 48) Q (B) (147, 64, 51)

(©) (171, 97, 67) (D) (84, 128, 56) i (4)
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SR B e ¥ ¢ el A for T v & SW T

P,Q,R,S, T, U, v, W3R X @& WfEr & v § St @& ivw wsham & FR01 T
W Hy oy ¥ 9 wed ¥ 9 frafsa IR ¥ uw o= F wer-fowm 9 A E IR T
AR S YR s A R W, X R = SR W gkl 9 RS QR
& W o ¥ v fee S T gen €1 U, p# A ¥ o wfeen wee R 14

Direction for Question Nos. 41 and 42 : 1

Read the information carefully and answer the questions given below : / e

P,O,R,S T, U, V W and X are the mne members ofa fam11y who are stuck in a house due ()
to a severe cyclone Among the mne fam11y members, three married couples are present. Both

the parents of a child are alive. R is the paternal uncle of 7, who is the only daughter of V.

W is the paternal aunt of X, who is the only daughter of R. S is the daughter-in-law of O,

who is the father of W. V is not married to S. U is the mother of P, who is not a female

member. i bf Z’ 7 G BT

41, US V | ¥ WY %7_{% £y R 9 927
@ = s 55 ® MBI T i
© =i & ot ¢ eEEte) W (
[eS 7.5
How is U related to V? 5
(A) Mother / (B) Sister-in-law
(C) Maternal aunt }$ % (D) Mother-in-law

42. T®H Q awm&q%??&

(A) T§ B) ¥
(C) (D) w&A
How is T related to Q7
(A) Daughter-in-law (B) Daughter
(C) Grand-daughter (D) Sister

B - T [15]
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43. R sfiemerdl ol frenel 1 @ Qw3 | 7 7 AR B AR T g
%,mwmwﬁmavﬁﬁfwmﬁﬁ%lwmﬁﬁ?ﬁﬁﬂ '
b sifieresl w1 aifher &9 @ oy war YA € }

HIFYT : , N
() @it wex ot & (2) #% weL T T R
() waw Iw T} '
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(D) v mmawmE X ) 9 T e @ wH ¥
(1) |t 3w forem & gma & (V) =i 0 T 7 #

(A) fak frd 11 ik 111 srgenn < & ~_ B®
(B) wft firerd e e € e
(C) # Frepd syl g & —

(D) fa& frad 11 sTgaRwr o=ar & |

Read the given statements and conclusions carefully. Assume that the informatio
given in the statements are true, even if it appears to be at variance with commonly
,knoWr;_,-facts." Decide which of the given conglusions logically follow(s) from th
statemerits % s §
 Statements : ; ‘
(1) All cities are districts (2) No city is state
(3) Only country is state
Conclusions :
(1) All cities can be state (II) Some states can be district

(IIT) All countries can be district - (IV) No country is city
(A) Only conclusions II and III follow

(B) All conclusions follow

(C) No conclusion follows

D) Only conclusion II foll
(D) Only con lows i S
B [16] N CQRP-




4. & faftga @I W1 d, ‘DEPLORE’ #1 2322736922’ 3R ‘RHETORIC’ wl

45.

‘919222691824’ % &4 ¥ FiFa fran s &1 I sy F ‘TARNISH’ #1 3 FHd
fran s ? \

(A) 226181491019
(B) 22695181019
(C) 20269518198
(D) 221181418198

~Ina certain code language, ‘DEPLORE’ is coded as 2322736922’ and ‘RHETORIC’

is coded as ‘919222691824’. How will ‘TARNISH’ be coded as in that language?
(A) 226181491019

(B) 22695181019

(C) 20269518198

(D) 221181418198

mﬁmmwﬁmmﬂ"mﬁﬂﬁmmtﬁﬁ@ﬁm,w :

{ ok ot wen, dredt g § W s
32: 896 : : 41 +7 14531 2597 |

(A) 1763 B) 1517

(C) 1640 ; (D) 1482

Select the option that is related to the third number in the same way as the second

number is related to the first number and the sixth number is related to the fifth

number :

30 : 896 ::41:7::53:2597
(A) 1763 (B) 1517
(©) 1640 (D) 1482

=
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How many triangles are there in the given figure?

(A) 52
(B) 54
(C) 50

(D) None of the above
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47, R o o SR freRdl @ wEEs w98 wm R fmowed @
aﬁwﬁw%,mﬁﬁmmmﬁmavﬁﬁfwmﬁ?ﬁ%lwmﬁﬁ
F-aa- fred sy 1 AHE w9 ¥ ST B /AW €

SFET

AfyFaT : U b6
(1) T wA N E ) ' )qg/
@) fok 3o va AW E IR
3) fad den ¥ @ ®

ey :
D ot didi % e €N R wET
(1) Tt wel F T g H EE ®

(A) fgk Fremd [ SRV A €

(B) [ ol 11 9 e 3 €
) ¢ frowd SR T Xl

(D) fads Fremd 11 STER0T el §

Read the given statements and conclusions carefully. Assume that the information
given in the statements are true, even if it appears to be at variance with commonly
known facts. Decide which of the given conclusions logically -follow(s). from the

statements :

Statements :

(1) Some flowers are fruits

(2) Only few fruits are plant

(3) Only plant is tree

Conclusions :

(I) All plants being fruits is a possibility
(I) All fruits being flowers is a possibility
(A) Only conclusion I follows

(B) Both conclusions I and II follow

(C) None follows
(D) Only conclusion II follows
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T HE@AT 48 3 49 & forw Frder

SITER W oM ¥ e Frefafad s % S AR
WW%@MQW%WEE@WﬁWIOﬁ.WﬁgPWt@aﬁr%l
%Pﬁwﬁﬁmﬁ9ﬁ.mﬁgsmq@m%.ﬁgsﬁwﬁmﬁémm
S 7 W v 1 o 7w Tl of e ¥ ok fog L W W R 4R ey
S L = g 7w <fem 3 ol s e w dm & o A g P T # S g
M% gEH

Direction for Question Nos. 48 and 49 :
Study the information carefully and answer the questions given below :

A person starts walking from point M, he walks 10 m North and reaches at point P. From point
P, he walks 9 m in East direction and reaches at point S. From point S, he walks 6 m Squth
and reaches at point /. Now he takes a right turn and walks 4 m to reach at point L. After
reaching at point L, he starts walking in South direction and reaches at point F, which is

East of point M.

48. A fag Nfag sA 3 M WM & &, @ M ok N ¥ o9 =m0 =0 &2
(A) 317 .
(B) 8 .
(©) 1042
/GU/Z\/EZ R,

: d
If point N is 3 m West of point S, then what is the shortest distance betﬁee_m M an

?
(A) 317 m
(B) 8 m

© 10\/5 m

@) 234 m s
[20] CQGR




49. Mgy, g PASH WA, @ fagy, forg 1 51 v R

¥ R?
(A) W /’Jﬁif
i o L
(B)  <fao-gd 7wy 0 | 7:,/_ e 5
(C) <faor
/63)/ S~ b ke

If point J is 5 m East of point P, then in which direction point J is with respect to

point 1?

(A) ﬁorth_
(B). South-East
(C)‘, South

(D) ' North-West

50.

143, 159, 207, 219, 255, ? e ___i#_’

1 6 Hey o T30 “46 2| 68

(A) 279 RIS ... PR (B). 275 —] 3;,
ity RIE =,

©) 264 -1 (D) 304

%

Sefect] ‘the number that can replace the question mark (?) in the following series :

. 143, 159, 207, 219, 255, ?
(A) 279 B) 275

(C) 264 (D) 304

[21]
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Wyq W& 51 afix 52 & fg frder ¢

WER wﬁ@mq%aﬂrqﬁfmvurﬁ%swi:

mmwﬁwwr@mﬁumAﬁwﬁaﬁ
%aﬁmw%aﬂimM#Wﬂ%%laﬁaFaﬂkaﬁﬂ
aﬁHW%?ﬂ%*aﬂTaTWQ%’w%l_amB,amQ*
1 9R S st F & 4 € '

s s ) 9 K, Wiy
w ¥ e QA T ¥ g g
ﬁ%ﬂaﬁﬁﬁqﬁﬁlmg

Direction for Question Nos. 51 and 52 :
Study the following information carefully and answer the questions given below :

t one above the other. More than five boxes are kep
M. Two boxes are

box Q. Box B
below box F.

t above box 4,

Eight boxes are kep

Box K is kept immediately above box F and immediately below box

kept between box F and box W. Box H is kept below box W and above

w box @ but not immediate below. At least four boxes are kept
W (Y’k

is kept belo

51. Frefafad ¥ § SA-W W& €2
(A) .wfe 4 g 9 @ 7§
(B) B, A HH sWE X
/C) R 2 L. 1
by s H % T e R PN

; ‘TS

Which of the following is true?

(A) Box A4 is kept at the bottommost position
(B) Box B is kept above box H

(C) Box M is kept immediately below box W

(D) There are only three boxes kept above box H

[22]




52, S H % R @ R B T, —— F IR @ d9€ #H e F GAA

(I
A) K —®) F
€ 4 (D) M

Number of boxes kept below box H is same as number of boxes kept above
A) X (B) F
©) 4 (D) M

53. ﬁqmﬂz#mwmqﬁmawﬁaﬂrwmmwﬁﬁﬁwmmﬁw

Wyt fRar S Ewd ¥ , 5 ~ 2 23

£t x e 73

/}}7‘% ")),\@ 33 | 2 297%% \L‘6>L
o ~ V= \
®>’Lb N @@3 ' SDIL ;4

OZ 1102 | 1861| 864 5/1

& \}% . Fort

@A) 37 97 (B) 51 95/( %

(C) 26 ; | D) 43 '

Study the given pattern carefully and select the number that can replacg__’ghe question

mark (?) in it :

33 ? 29

169 | 144 | 529

1102 | 1861| 864

(A) 37 (B) 51

(C) 26 ‘(D) 43
» [23] CQRP- 2
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54. ﬁ@wwﬁ@ﬁwﬁmw%ﬁﬁmamlwnﬁlm
T SR Frerffen wronsl T frR w9 a won ¥ e wE- A
9 ffea R .

TFerT ;

@‘Bwﬁmaﬁmwm_ﬁwwm#mmm

S W TR F TCHl F T IO A WS K G 2 | ’

WTUTI'(I:":

(D 3 i | afifaa ama Ja el N G WY, @ WA SR I H
. O IR § gfg S

() wF *m & fae o aaq

(A Tk wron 1 fifiea @

(B) wrumd I R II 3 fafea ¥

(C) ok uron 11 fifea &

(D) 13RI # & = +ff fifea = @ -

In the question given beldw, there is a statement followed b'y\ two  assumptions
numbered I and II. You have to consider the statement and the following assumptions,
and decide which of the assumptions is/are implicit in the statement :

Statement :

Equality of income throughout a community is the essential condition for maximising
the total utility which can provide total available income to the members of th
community.

Assumptions :

() If extra incomes were taken from the rich and given to the poor, the total utility
experienced by the community would increase -

(I) Equal pay for equal work

|
|
\
|
|
*
y
|
s

(A) Only assumption I is implicit

(B) Both assumptions I and II are implicit
(C) Only assumption II is implicit

(D) Neither I nor II is implicit

B [24] CQRP~




wy= gEm 55 ik 56 & forg fdw

f@,iﬁm,w,m,m,mﬁa,a@mq&zqaawﬁwaﬁmav«zﬁm
W@%lﬁﬁ,mﬁﬁQW%Mwélm,w
WW@%IW%IM,WW@#ﬁ?ﬁ%IW»WW
i ¥ o T EI

Direction for Question Nos. 55 and 56 :

Study the following information carefully and answer the questions given below :
Rohan, Raunak, Sushma, Sandip, Reshma, Sahil, Ruhi and Sristi are sitting round the circle
and are facing the centre. Rohan is second to the right of Reshma who is the neighbour of
Sushma and Sahil. Sandip is not the neighbour of Rohan. Sahil is the neighbour of Rubhi.

Raunak is not between Sandip and Sristi. Sristi is not between Ruhi and Sandip.
| 2

55. g&%ﬁaﬁﬁmaﬁ@ﬁw%?

(A) T A P L
(g)zrq’faﬂwi‘m (D) wrfi 3R THT

What is the position of Reshma with respect to Sristi? i
(A) Immediate left (B)  Second to the right

(C) Fourth to the right (D) Second to the left

56. ﬁﬂﬁf@aﬁﬁmmaﬁ%?
(A) wifea 3R & X
B) ¥7% IR WA —
() gfe ¥ I

/@ gdg ok wfea —

Which of the following are not neighbours? I JH)

(A). Sahil and Ruhi
(B) Raunak and Rohan g | =l

(C) Sristi and Raunak
(D) Sandip and Sahil

< 5y

zo%'z?@ﬁ«x

= s
M -
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wgR W@ 57 3R 58 & faw e :

ﬁﬂs‘ﬁuﬁfﬁﬁ@m%muﬁwmmqﬁ: s
Direction for Question Nos. 57 and 58 :
Choose the most appropriate response for each of these given situations .

T R FROR ey

57. mﬁﬁ&@mmﬁmgﬂaﬁ%maﬁﬁ#mﬁgm
W@ﬂmﬁm%aﬁmﬁgﬂaﬁaﬁﬁ\ﬂmﬁﬁvmﬁ%lm:
(A) w0 B IyeeE TG
(B) mwﬁﬁﬁwﬁﬁmﬁéﬁwmﬁv@mﬁﬁ
(©) wﬁﬁmﬁaarﬁﬁww%mﬁmmﬁm
HO1

2 NGl
P i
a2

/(ﬁ) R Fel & fog @R ¥ SR Ao w0 R, e R
oq S ¥ forg frawi ok fafedl & stgER =
Recently, the job market has improved for professionally qualified youth. Yet, you w
have come across cases where many youngsters are still not able to get jobs. You :
5

would :

(A) raise the job availability

e
'S

(B)- -assist the youth with some money of your own but would not compromise O

procedures

(C) -ignere some procedural steps to cater to the employment needs of the youth

(D) go by rules and regulations to take steps like vocational training to create seif

employment opportunities for unemployed youth

_//2
B  [26] CQRP -
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m@mﬁ%a%mﬁ%%wmww%m—ww&gﬁ%m
@aaﬁwﬁ%mﬁﬁ%lmmmnﬁﬁmwm
FQ ¥ g e T ¥
St AN F e I WA F Ao ad ok frafim siawe WS
Friwa & e $0
(B) Mﬁmaﬂﬂﬁiﬂmﬁﬁﬂmﬁéﬂmwaﬁﬂ
©) wmmﬁﬁﬁsmaﬁsﬂﬁm
(D) =1 gevE @ el die

You are the Senior Production Manager of a steel firm and have won the bid to

supply steel for railway bridges across the River Ganga. You have been' asked to

ensure maximum production in the next eight months. You would :

(A) plan out a production strategy with your Eeam and monitor production schedule
at regular intervals g i

(B) pressurise the production team to meet the target anyhow

(C) relax, thinking that the work will be done anyway

(D) pass on the responsibility to higher management

. = wen gm fu T E, Wﬂ?ﬁﬂﬁ@ammﬁmﬁﬁﬁsaﬁt@fw%n G

wﬁwwmwa&ﬁlﬁm%: L BEXC kY

g | . é
(A) 4:84 /fﬂﬁ 399 2“\
_ (9 Y A&
(C) 6:258 (D) 8:576 _{,{/”

Four number pairs' have been given, out of which three are alike in some manner

and one is different. Select the number pair that is different : ' (& 9%7
(A) 4:84 (B) 7.:399 , ,/3
(C) 6:258. (D) 8 :576

> [27] CQRP- 2



197 @@ 60 3% 61 & fow fder .

ﬁmﬁf@awﬁﬁmﬁ%w@mmgwaﬁq:

mmﬁmﬁw.ﬁ.éﬁﬁﬁw%mwmmmﬁﬂﬁmmﬁl
ﬁwﬁf@aﬁwmﬁ%fa%mawqﬁaswwwmﬁaﬁm
() IPieER % | Wt Y whenell & shgq €9 § F9-9-F4 8 TASLAT g
mlmsﬁﬁ.ma'a'W%,%hmﬁﬁWqﬁmaﬁﬁ10131'@1116!%
(i) srfear ¥ e A hwel § w4 sifuw dwah A€ g e
(zii)mﬁmmﬁmmmmﬁmwmﬁmm
Yt § Saw e A1e g
(iv)wmﬁmmaﬁﬁamaﬂtnaﬁﬁmwﬁmﬁq
mﬁmaﬁﬁﬂwaﬂ%mﬁm%mﬁ
(@) :ﬂﬂ«‘ﬁ(ii)m,aﬁ@m%qms.sﬁmmmiﬁ.ﬁm oW e
HIEHR H1 9= Sl
) m(i)m,uﬁ@wﬂw%m—ﬁ—mwaﬁwqﬁmﬁﬁm
7.sm.r:ﬁ.tfr.q.Wmﬁmﬁmﬁ%q@ﬁmﬂﬁiﬁaﬁ
fafiga qhen & fae o= € ‘

ﬁmwﬁ@mﬁaﬂﬂmmﬁmw%lamﬁwﬂﬁﬁmm
wﬁﬁﬁmﬁ%wmﬁwﬁfmﬁ@mmﬁﬂ@ﬁ@xmm
ﬁﬁwﬂaﬁw%mﬁﬁ%ﬂmm|mmwﬁaﬂim%
st HIE SHA A I R

Direction for Question Nos. 60 and 61 :
Read the following information carefully and answer the questions that follow :

For selection in IT companies through campus placement, certain eligibility criteria have

been set up. Following are some requirements as IT companies are looking for some decent
candidates for recruitment :

0) Candidgite should have at least 8 SGPA as average of all the semester exams
SGPA is the score which a student gets in semester exams out of 10

(i) Candidate should not have more than one backlog in the semester exams

(281 CQRP- 2



60.

R G L L I R —.
o 3fed TSR 905§ qE 26 WA F ¥

%%mmaﬁmﬁ'ﬁ

j) SHH 991 fwan Smam
. (©) =B« frofa Y ¥ fon st =g
(D) 38 w3 ==& fovan smom

Divya, graduate in Bachelor of Technology in Computer Science, has zero backlog.

She has an average SGPA of 9.25 in all the semesters. She is 26 years old.
(A) She will be eligible for interview

(B) She will be selected

\ (C) Data insufficient to take any decision

G\LDLE will not be selected

| [29]
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61. waﬁaﬁﬁﬂwmmﬁmmaﬁqm%MWW%
Tt AR F 7.8 T orqm e RT wifae fea

(A) Iu& 999 & fwan s
(B) 9% WiaThR & foQ am grm
(C) U= v o <mam

_ Dy T fofa e ¥ ferg g

Rohit, a 24-year old graduate in Bachelor of Technology in Information Technology,
has scored average SGPA of 7.8 in all the semesters without any backlog.
(A) He will not be selected

(B) He will be eligible for interview
(C) He will be selected
(D) He will be eligible for written test

62. mwﬁm@%ls%mﬁ%waﬁmaﬂtsomam‘f%ﬂaﬁm
mmmlmﬁmﬂﬁ‘lﬁﬁmaﬁ@ﬁaﬁmg@mﬁw%%m
mﬁ?mmaﬂtsﬂmﬁuﬁiﬁﬁﬁwlmﬁwﬁﬁlﬁ?@ﬁﬁﬁ@aﬁmm

ST :

(A) 3358 100 e
(B) 5037 & T
(C) 3266

(D) 2847

In an election, 15% of the voters on the voters list d1d not cast their votes and
80 voters casted blank votes on ballot paper. There were only two candidates. The
winner was supported by 46% of all the voters mentioned ‘in’ the ‘list ‘and he got
591 votes more than his rival. Find the number of votes winner got :

(A) 3358

(B) 5037

(C) 3266

(D) 2847

B [30] CQRP- 2



63. ﬁﬁ{a,b,caﬁxd@w,&ﬁ;

25 _ 1
186 | . el
Bipaes N,
e d 0l
ct-1
d—2

5

’ah(sa+2b-4c+d)qﬁmﬁ,
@) 0 |

B) 3
© 4
D) 2

If a, b, c and d are integers such that

‘then find (5a + 2b — 4c + d) :

A)-0 | r %5&,0[

®) 3 ,

© 4 (s |

i W

D



\Q

64. 3l fordll qwaw W e fosha gea (SP) *140% & 3R B2 % @ % F AR E, AR
T P2 H A YA (CP) W UM WA HIAC
(A) 227 ‘

B) 5§49
(C) 1835
(D) 10:63

If the discount on a book is 40% of the selling price (SP) and discount % equals

profit %, then find the ratio of discount offered to the cost price (CP) :
(A) 2:7

B) 5:9
) 18:35
(D) 10:63

65. @m%ﬁsﬁumaﬂtmm%mmmw7 2 ¥ | A FE

i fororg SO g A FO 9 A F g 26 ;5 ¥ gaa § o | afg o IR

T 1,07,445 m,am_m%mmwﬁﬂigmmmm.
(A) 7 39,725

(B) ¥ 46,375
(C) % 42,500
T 43,225

The airfares of business.class and economy class of a flight are in the ratio 7 : 2. The
number of passengers travelled by economy class and business class were in the ratio

26 : 5. If the total collection was ¥ 1,07,445, then find the total amount paid by the
business class passengers :

(A) {5? 39,725
(B) ¥ 46,375
(C) ¥ 42,500
(D) ¥ 43,225

L%y CQRP- 2



66. 372 3R V74629

F M ot W et #9

(A) 227 i

(B) 254 'g L&

(C) 283 | -
w2

(D) 245 2

How many natural numpe

i IS are there between 372 and J74629 2

(B) 254 c

(C) 283

(D) 245

67. ?{ﬁaaﬂTB,xZ—Zx

— 1 =0 Wi % |
eaibet 35 | oy TE N iy 3
am.gz_ AT

—

Sl
A) 2-82x—-1=0 By

B) x*+42x-1=0

€ x2-41x-1=0

D) IR § q 1 T

If o and B are the roots of equation x2— 2x — 1 =0, then what is 'the eq\iation whose
o’ B

Toots are —3 and —?
B a

(A) x2-82x—-1=0

B) x2+42x-1=0

t

oL

© ¥2-a1x-1=0
L None of the above

(3] T CQRP- 2




68. TX 3N TYﬁﬁmmtmoﬁwtatuqaaﬁﬁmsﬁ.%aﬁzm
2 g 17 . 1 I BT IXY S0 &t 4 &, \@%mm?ﬂn:

)=

. f

304/2 L
o B2 ® |
30 15
© = o =

TX and TY are tangents to the circle and O is the centre of the circle. The radius of
the circle is 8 cm and the length of TO is 17 cm. If the area of the triangle TXY is

A, then the value of \/—Z is':
30

X
T
Y
@ 32 \[1_?
17 (&) L7
30
© = 15
17 D) =
B T —
[34]
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69. 19v2 w-ﬁ*ﬂmmmmmﬂtﬁ.mtmaﬁrﬁﬁﬁmhm

Wﬁa‘“mwmmmtmﬂw]?
(A) 4158

(B) 3292
(C) 3486
(D) 3722

A cubical box of diagonal 1942 cm is surmounted by a hemisphere of radius

14 cm. What is the total surface area of the solid thus formed [in cm?]?
(A) 4158

(B) 3292
(C) 3486
(D) 3722

70. U fAfvma afr W 12% uﬁaﬁﬁﬂﬁﬁﬂ%m-m&m?lgm 2 ==
=S aifde &9 ¥ aifa gen ¥ afw & .

(A) T 15,000 .
(B) % 10,000
(€) 7 12,500
(D) 7 14,500

“'i'he compound interest on a certain sum for 2 years at 12% per annum is ¥ 3316,
when the interest is compounded yearly. The sum is :
(A) ¥ 15,000
(B) ¥ 10,000
©) ¥ 12,500

D) 7 14,500
\

[35] CQRP- 2
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72.

87 BEl F TH el § ASH ® Aswdl 4 I 15 0 14 3w e 9 dSH F

siraa i@ wefEdl # qe 16:;:%: s &1 aft o ol w1 st s 63 F,
wefedl ® sifwa 3iF #7072

(A) 58 B) 56

(©) 522 (D) 57

In a class of 87 students, the ratio of boys to that of girls is 15 : 14. The average
score of boys in a test is 16—2-% more than that of girls. If the average score of all
students is 63, then what is t?le average score of girls?

(A) 58 (B) 56

(C) 522 (D) 57

7 geu si 9 wfeend

swaﬂumi@mﬁmﬁa‘fﬁwmmt,m
2 gou ol 5 Hfeend

3@ wW B 15 feli § qu W T &1 @ v H= 111.11%,
fora el Q@ HN 2

(A) 35f@

(B) 42 fa

(©) 375 @

(D) 40.5 &

5 men and 4 women can complete a work in 27 days, whereas 7 men and 9 women
can do the same work in 15 days. In how many days can 2 men and 5 women
complete 111.11% of the same work?

(A) 35 days

(B) 42 days

(C) 37.5 days

(D) 40.5 days

[36] CQRP- 2




SR 4 > SIY I*Wﬁwtnwﬁmmmmm
W%Q‘Taﬁmﬁeq e &2

A) 7:1

%1 1 B) 11: 35

(©) 15:28 vt

857%and 901—(1)% of the

atio of tota] quantity of water to that of milk carried by
him?
A) 7:11 B) 11:35
(© 15: 28 ®) 9:7

14, atgqef%HCFsmLCMm Bx + 1) sl (22,3
(6x2 + 5x + 1) &, A T wgwR T
(A) 11x2 - 13x + 2
B) 11x2 - 13x -2
© 11x?+13x+2
D) 11x% + 13x -2

-15x2—9x+2)t|71&1{q;w§q3

The HCF and LCM of two polynomials are (3x + 1) and (223 — 152 — 95 + 2)

respectively. If one polynomial is (6x2 + 5x + 1), then what is the other polynomial?
(A)  11x% - 13x + 2

B) 11x2 - 13x = 2~
©) 11X+ 13x +2

D)  11x2 + 13x = 2
\
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75. Paﬂtgwﬁmmam_mmimtumﬁR,Pquﬁmaﬁﬁ
?390%WWWW%IWPWWQx%mmﬁQmamy%’%
Qﬁmwmmmaﬂmm%lmRﬁﬁﬁWaﬁsﬁmmm
m%,ﬁtswm:pxw%cﬁ:y:ss%% of x®?

(A) ¥ 780 (B) ¥ 630
(C) ¥ 840 (D) ¥ 819

P and Q purchase two different articles at same price. Later on R purchases both

articles at same price of ¥ 390 each from P and Q But profit of P was x% while
profit of O was y%, since 0 calculates his profit on SP. If R sells one of the articles

to S at y% profit, then what is the cost price for S if y = 381%% of x ?
(A) T 780 (B) ¥ 630
(C) T 840 . (D) ¥ 819

76, 4 3 B ¥ o= ® Jh 759 AL %lﬁgAﬁaaﬁa@ﬁwﬁmz
63%@%911#@@@@%&@%@6%%@%@3@@%
ﬁgqu@m%afﬂamﬁ\m% acmrﬂﬁmﬁa@ﬁm%waﬁhc%aﬂa
= gt I B

(A) 132 fel. (B) 135 f&i. S
(C) 140 T, (D) 138 fe.

Distance between 4 and B is 759 km. From point 4, two persons start their journey with
speed 63 km/hr and 91 km/hr respectively at same time. When faster person reaches at

point B and returns, then meets slower person at C on the way. Find the distance between

B and C:
(A) 132 km (B) 135 km
(C) 140 km (D) 138 km
B [38] —
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77. T 9, =w34S 4BCD w3y it =R
BC = 8.4 ). aik cp =
(A) 7.7
(C) 8.6

TSN 1wt e ¥, For el 4B = 11.2 @,
6.3W.flADﬂwﬁﬁiT§m~ﬁt‘
' - B) 9.1

A circle t i
ouches all four gideg of quadrilateral 4Bcp whose sides are 4B = 11.2 cm,

= 6.3 cm. The length of side 4D, in cm is
() 7.7
B) 9.1
(C) 8.6 (D) 98
8. 5l B
78. TH g w%mw%mﬁ@ﬁmmmmtﬁﬁwmﬁ@ﬁ
3% 3R ey m%mﬁmm 125 : 91 & v ¥ 1 ok vigp ) = 576 At
g aﬂﬂﬂﬁwfﬂ%ﬁmmﬁfmmwwﬁmmm
(A) 7.2 9.
(B) 8.4 ¥t
(C) 9.6 4.
(D) 8 ¥,
A cone is cut parallel to its base into two pieces in such a way that the ratio of
volumes of smaller cone formed and other part is 125 : 91. If the height of the cone
i8 ' 57.6 cm, then find the height of the point from the base at which the cut was
made :
(A) 7.2 cm
(B) 84 cm
(©) 9.6 cm
(D) 8 cm
R [39] CQRP -
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79. qa;araa?raﬂmﬁmmﬂ.aﬂtmﬁw

80.

o4 fEll. B T T
. T
§ o A WY g
R

1osi%wﬁ§|aqamﬁs1m.aﬁ§aaﬂ$ﬁ
g 3 IRT A F o
Ry

36mﬁ.aﬁ§amwﬁwﬁa@maﬁm%|

ﬁﬂﬁﬁﬁwﬁaﬁﬁ%(mﬁaﬁ)?
(A) 3 (B) 4
©) 3 ' D) 45

A boat takes total 10 hours to cOVer 136 km in downstream and 84 km in upstreay,

wnstream is equal t© the time taken to cover

The time spent to cover 51 km in do
how much more than the speed

36 km in still water. Speed of boat in upstream 18
of current (in km/hr)?

(A) 5 ®) 4
©) 3 (D) 4.5
it wafs =09 % MU T (ﬁmqiaa:)mmgq 15% wfag o @l A2

57,000 & T T 2%aﬁﬁmaﬁrzm (z ) 9@ WIS
(A) T 25,167

(B) ¥ 22,518

(C) ¥ 23,842

(D) ¥ 26,496 ¢

Find the compound interest (in %) received in 2.:.;. years on an amount of ¥ 57,000
at the rate of 15% per annum, computing the intesrest on compound annual basis (up
to the nearest ¥) :

(A) T 25,167

(B) ¥ 22518

(C) T 23,842

(D) ¥ 26,496

3
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@ 11

i B) 8
(©) 13

11
! (B) 8

D) 9

© 13

g B = %,vhcmmmaﬁfm:

a+b b

(A) T B) aab
4 b

C g a
e a+b (D) T

Q
+
S~
Q
S

s ®

b

c) - D) .

() a+b ( a—-b
B\
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Wy e 83 3i 84 % fog fdwr ¢
ﬁvﬁﬁEHQd=médhwmwvaanaﬁiiéma;%ﬂq

Direction for Question Nos. 83 and 84 :

Following pie charts show the percent of
Budget of a country in three different years :

Total amount allocated to 6 different

mﬁsmﬂ—waﬁﬁaﬂéﬁa

fund allocated to 6 different sectors in Union

sectors in year 2017=200 crores

Year 2018 Year 2019
- Defence vvy| Industry =] Agriculture
Service ++ | Education oo| Other
B [42] N CQRP- 2
i
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gether
(A) 69 : 38
B) 276 : 205
LB 24
65 : 27 X o =
© %
(D) 387 : 152

84. aﬁzowﬁmw—wﬁm

AEfea o wfy ¥ 400 Fg R, A 2019 F ey
&aﬁaﬁﬁaWWMﬁzov

ﬁmammm%?
(A) 40:/o M— D
BT 50% [ B -
©) 37.5% Qﬁ——z%)“w
D) 45%

& . LD
U
If total amount allocated to 6 different sectors in 2019 be ¥ 400 crore, then by how

much percent fund allocated in defence sector in 2019 is more than that of the same
sector in 20179

(A) 40%
B) 50%
C) 3759

.\'(‘QJS%

[43] CQRP -
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et we 85 3iv 86 & forg fedr ¢
ﬁqmwmammmwﬁ%wém: e
ABc%ma:tasfzomﬁzomﬁmafmﬁuh(ﬁgﬁ)

Z K.
800 |- =
=
700 |- -
(Yo
600 o
g}

523
515

468

500 |-

a
<
400 - He
&
300
200 I~
100 [~

0 2014 2015 2016 2017 2018 2019

413

CLEETTTETTETETTTTERENNNNNNT—1612

AVRARARRARRRNRNR R ANNRNAY AT

-

Direction for Question Nos. 85 and 86 :
Study the given graph and answer the questions that follow :

Imports and Exports of country ABC during the year 2014 to 2019 (in crores)

Imports
Exports
500

o~
=
N *
G O
o “
2 T B B3
400 - Ho
2 o
300 |- Q
200 |-
100 |-

0 =014 2015 2016 2017 2018 2019
B 44
[44] CQRP- 2
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85. X ABC¥ = 2016, 2017 9 2019 & g Frafa @, = 2015, 2016 31K 2018 F F¢
AT T oy 2

(A) &:7
@) 3:3
C) 2:3
D) 4:5

What is the ratio of tota] €xports in the years 2016, 2017 and 2019 to total imports
in the years 2015, 2016 and 2018 of the country ABC?
(A) 4:7

B) 3:5
(C). 2. 3
(D) 4:5

86. a4 2014, 2015 R 2018 & W 4BC = Fa frafa =d 2014, 2017 sk 2019 & 2w

ABC & % 1AW Q@ fwan wfav w8 2
(A) 31.25%

(B) 28.57%
(C) 41.66%
(D) 37.5%

The combined exports of the country ABC in the years 2014, 2015 and 2018 are what
percent less than the imports of the country 4BC in the years 2014, 2017 and 2019?
(A) 31.25%

(B) 28.57%

(€) 41.66% ' S

D) 37.5%
B

[45] CQRP- 2

,



87. Tt @ g2 W ¥ ‘EDUCATION' ®1 ‘GHFXDLWQR' feral s &1 36 v
% ‘FRAGRANCE’ # %# gégm faan smem 2

(A) UIJDUQDHF (B) UIKDTRDHF
(C) UHJDURDHG (D) UIJIDTQDGF

In a certain code language, ‘EDUCATION?” is written as ‘GHF XDLWQR’. How will
‘FRAGRANCE’ be coded as in that language?

(A) ULJDUQDHF (B) UIKDTRDHF
(C) UHJDURDHG (D) UIJDTQDGF

88. ‘P#O' wmad¥'p, Q0w ufad
‘P@Q ®ad P, Q® AR
‘P& wmaad g ‘P QAR
‘PO @madR'P,OR @R
R CHF@N%J # G & U# Z foran s, @t Fretfefaa & & #-a1 For wet et
22
(A) J, Z® TR R
(B) N33R U wE
(C) FUR T &

D) G, CH &
‘P # O’ means ‘P is the husband of O’
‘P @ Q’ means ‘P is the sister of O’

‘P & Q’ means ‘P is the mother of 0’
‘P % O’ means ‘P is the son of O’

If C# F@ N %J # G & U# Z is written, then which of the following statements is not
correct?

(A) J is the father-in-law of Z

(B) N and U are brothers

(C) Fis the sister of U

(D) G is the mother of C
- [46]
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ggﬁmwwaﬁﬁmsﬁmm@wmm%mmw

89
goF G ¥ e §

B:506::13 :9 :
(A) 2210 B) 2197
(C) 2366 (D) 2112

Select the option that is related to the third number in the same way as the second

number is related to the first number :

8:576::13 :7
(A) 2210 : B 2197
(C) 2366 D) 2112

0. fFrafafad HEen # v fog (7) % ®W W =0 €m?

hKr, gMo, fOl, ?, dSf

(A) eRj
(B) ePi
©) Qi
(D) eQh

Which will replace the question mark(?) in the following series? \ (j

hKr, gMo, fOl, ?, dSf

(A) eRj Sl (,4 {4 C/ m

(B) ePi n O
/(CreQi o f MDD r) &
(D) eQh A gy W

B e CAQ/‘F%[I} ”K\__’W\ o P &ﬁp-
-

2



92.

93.

J
© IP AN ) B |
S g out of which three are alike

estion, four groups of letters ar€ given,

hoose the odd one€ -
B) PSW

(A) EHL
(C) ILP (@) SVY

In the foilowing qu

in a certain way, while one is different. C

50 ot 80 el 3T H | fopa oAl AR 43

4 si B we T B HEE: '
ém%aﬂiﬁl{ﬂfa:ref%ﬁ:l’fﬁ{f‘@m%'

Wﬁﬁ%mAmaﬁg
M DSl 7

(A) 16

(C) 18

B) 25
(D) 20

80 days respectively. They begin

0 days and
mpleted in

plete a piece of work in 5
days and the whole work is €O

A and B can com
the work together, but A left after some

48 days. After how many days 4 left ? A
(A) 16 B) 25 B
(C) 18 (D) 20

msgmﬁmram#ummikamaqﬁrﬁx%,agﬁnsvxmmwaraquﬁaanmiyam:gr
ﬁ%ﬁ{ﬂﬂW%ﬁqzém%mﬁs@ 89, 1 <™ Bl £, a x T 7 TR :

(B) 30%

D) 33%%

(A) 16—;—%

(C) 25%
A shopkeeper marks his goods x% above the cost i
! price and allows a disco
unt of 19% on

the mgrked price. If his profit is 8%, then the value of x will be :

\ 20

(©)..25%
D 3% (D) 33§%

[48]
CQRP- 2



58
Hé
: &
94. AL (4x + 1) + 3x - 4)% + 2= x)% = 3(4x + 1)(3x - 4)(2 — x) T, A x TR 0 : y
2 1 Z
A L . =
3 ® © < D) 3 G/
If (4x+1)3+(3x—4)3+(2-x)3=3(4x+1)(3x—4)(2-x), then x will be equal to :
2
£ 1 1 1
Qo3 B3 © < g ol &%
Radesseryd- &
| 95. \/6+\/6+\/6+... T T =1 8 ?
| NEY (B) 3 ©) 6 (D) 62
o 4o
What is the value of \/6+\]6+\/6+... ?
(A) 3.2 (B) 3 C) 6 (D) 6.2

96. Wmﬁmﬁwﬁﬁmﬁmﬁmmﬁfﬂﬁ%m& 55% I T TN
TR frrern iR 30% wefrdl # wam firem &, @ vaw 7 9 A SER) w1 wheE §

(A) 60% (B) 35% M (D) 75%

The number of girls appearing for an admission test is twice the number of boys. If

55% boys do not get admission and 30% girls get admission, then the percentage of

candidates who do not get admission is : L G55
(A) 60% (B) 35% (C) 65% D) 75% —— l,f: Xigp

97, A 3R B T AN FHE: PH QX QW PYE S| ThH T H TWHA & &, 4 AR B3I
ST S A A 6 5 3R gL w3 § g w1 B w v 36 Feh AL B, 4w
(Pt /50, ) & - 6

(A) 36 (B) 28 (C) 42 (D) 35

v¢ . A and B started their journeys from P to Q and Q to P respectively. After crossing each

R , 1
other, 4 and B completed the remaining part of their journey m.6 hours a.nd 8_6- hours
respectively. If the speed of B is 36 km/hr, then the speed of A (in km/hr) is .

(A) 36 (B) 28 (C) 42 (D) 35

|9 [491 CQRP- 2
| o5 ;m5 Go (00 4 80
/? : 219,3 ‘/Lf
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i




98.
8 WW%Wﬁ3’969

Tt T < H ) s e o Y B T
(A) 53

(B) 67
©) 63 D) 59

The students of a class donated a sum of Rs. 3,969. If each student donat

ed as Many
Tupees as the number of students in the class, then the number of students in the clgg
is :

(A) 53

(B) 67
(C) 63 (D) 59
99, ﬁqma’fﬁ,%wq&mﬁam%iﬁamﬁmwm?
21,11,27,8,5,12,7,23,3, 14,9, 19
(A) 1.25

®) 175
(©) 145

D) 1.5

What will be the difference between mean and median of the given data?
21,11,27,8,5,12,7,23,3, 14,9, 19

(A) 1.25 B) 1.75
(C) 145 D) 15
100. T&F W9 Y TS Yo ‘& et =g & <t T THH TaE & T AAwA F 44% F 35
Bl I | 35 A § fwa ferd g 2
(A) 60% (B) 72.8%
(C) 96.8% (D) 82.4%

Each side of a cube is increased by ‘k’ cm, such that its tota] surface area is increased by
44%. What will be the change in its volume?

(A) 60%

(B) 72.8%
(C) 96.8%

(D) 82.4%

[50]
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